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3R�XNRĔF]HQLX�WHJR�NXUVX�VWXGHQW�SRZLHQLHQ�E\ü�
Z�VWDQLH�NRQILJXURZDü��WHVWRZDü��GRVWUDMDü�L�
SURJUDPRZDü�RVLH VHUZD .LQHWL[���������������
Z�WHFKQRORJLL &,3�0RWLRQ� ]D�SRPRFą�DSOLNDFML�
6WXGLR������/RJL[�'HVLJQHU��

2VRED�ELRUąFD�XG]LDá�Z�V]NROHQLX ]D�SRPRFą�
SU]\JRWRZDQ\FK�PRGXáyZ�ZDUV]WDWRZ\FK
]GREĊG]LH�XPLHMĊWQRĞFL�SURJUDPRZDQLD��
QLH]EĊGQH�GR�VWRVRZDQLD LQVWUXNFML�SRWU]HEQ\FK�
GR�SURJUDPRZDQLD�ZLHORRVLRZ\FK�V\VWHPyZ�
QDSĊGRZ\FK�W\SX�.LQHWL[�

3RQLHZDĪ�ZV]\VWNLH�SURGXNW\�/RJL[�����
NRU]\VWDMą�]H�ZVSyOQHJR�]ELRUX�LQVWUXNFML L
Z\NRU]\VWXMą WH�VDPH�QDU]ĊG]LD�SURJUDPLVW\F]QH�
WR ]GRE\WH�Z�W\P�V]NROHQLX�XPLHMĊWQRĞFL�PRĪQD
]DVWRVRZDü�Z�SU]\SDGNX�Z\NRU]\VWDQLD�
GRZROQHJR VWHURZQLND V\VWHPX�/RJL[����
REVáXJXMąFHJR�V\VWHP\�QDSĊGRZH�
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'=,(ē �
x :SURZDG]HQLH�GR�WHFKQLNL�VHUZQRQDSĊGRZHM
x %XGRZD�V\VWHPX�.LQHWL[���������������
x .RPXQLNDFMD VHUZRQDSĊGyZ ]H�VWHURZQLNLHP�Z�VLHFL�(WKHUQHW�,3
x .RQILJXUDFMD�QDSĊGX�RUD]�RVL�Z�6WXGLR�����

'=,(ē �
x 0RWLRQ�'LUHFW�&RPPDQGV�± EH]SRĞUHGQLH VWHURZDQLH QDSĊGDPL�

VHUZR��RQ�OLQH� ]D�SRPRFą�GHG\NRZDQHJR�GR�WHJR�FHOX�QDU]ĊG]LD�
x 3RGVWDZ\�SURJUDPRZDQLD�&,3�0RWLRQ�Z�MĊ]\NX�/$'�± RPyZLHQLH�

]DJDGQLHQLD
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x ,QVWUXNFMH�&$0�± RPyZLHQLH ]DJDGQLHQLD� Z\NRQDQLH ]DGDQLD

ZDUV]WDWRZHJR
x ,QVWUXNFMH�(YHQW�0RWLRQ�± RPyZLHQLH�]DJDGQLHQLD��Z\NRQDQLH�

]DGDQLD�ZDUV]WDWRZHJR
x 2EVáXJD�EáĊGyZ &,3�0RWLRQ
x 6DIH�7RUTXH�2II��6DIH�/LPLWHG�6SHHG�± RPyZLHQLH�PHFKDQL]PyZ

V\VWHPX EH]SLHF]HĔVWZD�]ZLą]DQ\FK�]�VHUZRQDSĊGDPL�
NRQILJXUDFMD��PRGXá�RSFMRQDOQ\�



5RFNZHOO�$XWRPDWLRQ ± 3XEOLFDWLRQ�'D^dϭϬͲWWϳϬϰ�ͲW>ͲW�± -XQH����� .LQHWL[������SRGVWDZ\�SURJUDPRZDQL�
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6]NROHQLH� SU]H]QDF]RQH� MHVW� GOD� RVyE�� NWyUH� FKFą ]GRE\ü OXE� SRV]HU]\ü� VZRMą ZLHG]Ċ� QD� WHPDW� NRQILJXURZDQLD L�
SURJUDPRZDQLD V\VWHPyZ VHUZRQDSĊGRZ\FK�.LQHWL[ Z�VLHFL�(WKHUQHW,3�

:\PDJDQD�MHVW�]QDMRPRĞü�]DJDGQLHĔ�]�]DNUHVX SRGVWDZRZHJR�GOD�QDU]ĊG]LD 6WXGLR������3/�&&3�����
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5RFNZHOO�$XWRPDWLRQ�]DSHZQLD�FDá\�VSU]ĊW�SRWU]HEQ\�GR�SU]HSURZDG]HQLD�V]NROHQLD��
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.DĪGD�]�RVyE�ELRUąFD�XG]LDá�Z�V]NROHQLX�RWU]\PD�QRĞQLN�SDPLĊFL ]�LQVWUXNFMDPL�Z�ZHUVML HOHNWURQLF]QHM �3')��
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6WXGHQFL�X]\VNDMą PRĪOLZRĞü�SUDNW\F]QHJR��SU]HüZLF]HQLD�]GRE\W\FK Z�WUDNFLH�V]NROHQLD XPLHMĊWQRĞFL�

'R�G\VSR]\FML�EĊGą�ZDOL]NL�GHPRQVWUDF\MQH�W\SX�&RQWURO/RJL[�L�.LQHWL[����������������
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$E\�]JáRVLü�FKĊü�XG]LDáX�QD�WR�V]NROHQLH�OXE�DE\�X]\VNDü�SHáQą�OLVWĊ�RIHURZDQ\FK�NXUVyZ�5RFNZHOO�$XWRPDWLRQ��

VNRQWDNWXM�VLĊ ]�ORNDOQ\P�ELXUHP�VSU]HGDĪ\��

0RĪHV]�UyZQLHĪ�RGZLHG]Lü�VWURQĊ�LQWHUQHWRZą��QD�NWyUHM�]QDMG]LHV]�ZLĊFHM�LQIRUPDFML�R�NXUVDFK�MDNLH�RIHUXMHP\��

KWWS���ZZZ�URFNZHOODXWRPDWLRQ�FRP�WUDLQLQJ

$OOHQ�%UDGOH\�L�H[SDQGLQJ�KXPDQ�SRVVLELOLW\�Vą�]QDNDPL�WRZDURZ\PL�5RFNZHOO�$XWRPDWLRQ��,QF��
=QDNL�WRZDURZH�QLHQDOHĪąFH�GR�5RFNZHOO�$XWRPDWLRQ�VWDQRZLą�ZáDVQRĞü�RGSRZLHGQLFK�VSyáHN�

3XEOLNDFMD�*067���33���$�3/�3�± -XQH�����
&RS\ULJKW��������5RFNZHOO�$XWRPDWLRQ��,QF��:V]\VWNLH�SUDZD�]DVWU]HĪRQH��:\GUXNRZDQR�Z�86$�


